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Question No. 1 is compulsory and solve anynTHREE qucstlons fror

1 m remammg questlons. ’
2. Assume suitable data if neccssary
3
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N.B.: (1) Question No 1 is Compulsory . f. - 5 . '

(2) Attempt any three qucstlous oul ol‘tlu. rcm:umn;, f'vc el o o

(3) All questions carry cqual marks, > /'ﬁ‘j‘ 27

(4) Assume suitable data, ir required: and state |fclcarly SN o~ N O

e A . >

QI \-} ,f\\_‘ O pee >[20] ~

A List out stages m—Data Mlmng with ncaﬂabclled dragram K

B -

A sales firm hﬁs rcportcd followmg sales ﬁgures for FY 23 -24 (i.e. March
23 to Feb 24)“ "
2300, 4352675, 543, 454, 7877, 5434 345, 2342 654, 567 545
Show how to normalize this data'series usmg Mm-Max scaling. . N
C  With, an example explain Star Versus Snowﬂakes schcma m‘dtmensronal
modcllmg ;\, . ¢l R \ L - b3
D Whatis markc; basket an:ﬂysrs? Ex‘gqam withar real use casé.- ey _
A Draw and h§t the components of a l’yplCZl[ Daza warehousearchatccture [10]
B . ) Consrder wc have ag&of 35 pammpants in a,survey grven to us in soned [10]
S order. | -
=S, 10, 13 13,15 16 16, 20, 20 20, 21 22 22,22 25 25,25, 25 30 30
T 33,33,33, 35, 35, 35, 35,36, 40, 45, 46 52, 52, 70, 8. \\ Koy
Draw lnstograms for this data taking bin size as'5and 8. Exp]am the effect
. .of bin size. on the histograms you.gbtain, o e
Q.3. A < What is OLAP'P Explam vanous OLAP opcratxons wnh Tneat Iabeled dmgmm [10]

\
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B Explam workmg of dec:s:on lree based: classrf er? Wllh an examp!e explam' [lO]

g steps for mductmg tree using ID3 algorithm, ;\3 oW
Q4 A Use the Apnon algorrlhm to ldcnnfy the frcquem item- sets in the followmg [10]
N ~-database. \- na¥ S Row al .
. £ [m = v ] L e I
" Ny -ltems 1,2:'4,5,6 235112, (124, 12345, | 2341245
I " 4,5 5 6 b
K Consnder memum Support as 75% and conﬁdence at 85% level. Write
. ,Ldown all strong association rulcs~

-\

» Q - Whati zs an outher" Explam vanous mcthods for performmg outlier analysis. [10)
. SR Ko 3 ~
2 Q5 A Explam steps ‘m hlerarchlcal Clustenng algonthm Perform hierarchical [10]
RN c!ustenng on- followmg Qnta that represents 10 points in 2 D space
‘ {2,3), (5.4), 9.6), @778, (7. 2), (6,3), (1 9), (3,6), (4,8).
. Consider er you require 3 clusters:.
Bﬁ— Explammmmg oFMultrlevel assocratlon rules and Multidimensional asso- [10]
,~"  ciatiop rules. . - Aol N
Q.67 Wnte short note on followmg (Any 4) [20]
“ A Navie Bayes Clasmﬁer,.\ _
B Boot Strapmg
C_ " BIRCH: Algomhm \
D- BI Architecures &
E Types of attnbutes e
7 a B &
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N.B.: (1) Qucsllon Nolis Compulsory.
(2) Attempt any three questions out.of the rcmammg fvc

(3) All questions carry.cqual m'lrks . <’ 2N
(4) Assume suitable data, if required and sta!c it cle'lrly K T
(5) Usc of Statlstlcal Ta bles are allnwcd G KD =

Ql. Attempt any four K Ky ' _ [20]

a  Formulate the problem for § queens. ,
b Whatis the difference bclwccn unifi catlon and Skolemnzatuon"
‘ / Define over {]tung and under ﬁttmgln detail with a dlagram
d. Explam uuhty based : agent archnccturc thhd:agram
-;e':g Compa.rc box-plot and scallerplo[

—_—

f Explam workmg of Fonvard and Backward Chammé algonlhms

. _ = -,: / ~a
Q2. a: Con51der followmg 5 *5 gnd where S represents start and-G goal posmon [10] .
' # represents an obstacle. (dot) represents’ free to move in cell. corisider N
agcnt can fo]low four standzn'd moves m this puzzle world.
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Represcnt this puzzle as state-space search problem Apply Hill Climbing
T Search. Does the algorithmstuck in Local Minima 7°

" b “Write notc'.gn fo]lown_ng supcrvnscd\[eammg tcchmques: a) SVM b)ID3 [10]

Q3;;' ‘?‘3 What do you mean by dala analyucs" What are the different types of data  [10]
: ana[ytncs" = &
N ST ’
b" Wﬂ.‘it Is Imcartegres:hon" Explam its significance in ML. Compare it [10]
//\;ﬁ logxsuc reg‘re;snon
&Ly e
A /
' NONEIRRAT. c
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Q4. a  Perform t-teston following data about choice of customers who peferred  [10]
cither tea or coffee. The experiment was repeated 5 times and results arc
tabulated below. Comment weather the mean of two scls are same based
on test result? (Consider a=0.05, l(0.05,3)=3.182,1(0.05.4)——';2.776,
t(0.05,8)=2.306 1(0.05;9)=2.262 .1(0.05,10)=2.228 ) ’

Tea =6 9

4 5 o
Coffce 23 208 6 14 |7

-

Clearly mention Nu}l:’a'nd Alternate hypothesis. Also comment weather t-
test fails.or succeeds in rejecting Null Hypothesis.

- o o " o

b What are the different uniZvariatc plots in EDA? Explain thent in detail - [10]
_g/ a - What arethe diffe;ef;t:issucs inl}?fL algorithms? a : (10]
b Compare Z-Test, T-Test and"ANOVA in detail. [10)

~
~

Q6. . Describe hie architeetdré of ML application. Explain with.a diagram. S U
b Descr@bé‘vlimy four, u'_;';infonned g@irch strategies. Compare them v»gth time [10]
complexity, quc,‘.é"complexi‘tjf-, optimality-and completeness. A3
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